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Excel Answer Sheet for Economics 210

Chapter: 

To Accompany Excel Workbook: 8_Excise_Taxes.xls

Refer to the Above Excel Workbook in answering the questions below. For each spreadsheet in the workbook, a spreadsheet title and a brief description of the spreadsheet precede one or more questions based on that spreadsheet. Bold letters indicate the spreadsheet name.

Excise Tax: Short Description of Worksheet. 

1. Choose a value for the excise tax and, given that value, answer the questions below.


The chosen tax is $_____ per unit of this good.


The resulting number of units bought and sold is _______.


Consumers now spend $_______ on this good.


Producers now receive $_______ from this good.


The tax revenue generated by this tax is $_______.

2.
Print two copies of the graph with your chosen excise tax. On one graph, draw the effect of placing the tax that you choose on buyers. On the other graph, draw the effect of placing the tax on sellers. Attach these graphs to this set of material.

3. Experiment with the various possible taxes (the scroll bar increments the tax rate by $30 per unit). Which tax rate results in the maximum revenue given this demand curve and supply curve? How much revenue is generated? Why doesn’t a higher tax rate always result in more tax revenue?

Excise Tax (2): Short Description of Worksheet. 

4.   The worksheet identifies six areas. Set the tax rate at the one you chose in the previous sheet. Then, for each of the six areas do the following:

· Write an explanation of what the area represents

· Indicate the numerical value of that area, given the tax rate that you have chosen.

5.
Choose a second tax level and indicate how each of the six values in (4) is affected by the change.

Tax Incidence & Elasticities: Short Description of Worksheet. 

6. Keeping the supply elasticity equal to 1, make the demand curve more elastic. Choose a number between 1.5 and 5. Fill in the blank cells below and write a couple of paragraphs indicating how the increased demand elasticity affects the impacts of the tax.

	
	Initial Value
	New Value

	Demand Elasticity
	1
	

	Supply Elasticity 
	1
	1

	Price that:
	
	

	   Buyers pay
	$200
	

	   Sellers receive
	$100
	

	Quantity
	20
	

	
	
	

	Tax Revenue =
	$2000
	

	Deadweight loss =
	$500
	

	Deadweight loss per $1 tax revenue
	$0.25
	


Given the supply elasticity, does a more elastic demand curve result in more or less deadweight loss for a given tax rate? Does a more elastic demand curve result in more or less deadweight loss per dollar of taxes raised?

Returning the demand elasticity to 1, make the supply curve more elastic. Choose a number between 1.5 and 5. Fill in the blank cells below and write a couple of paragraphs indicating how the increased supply elasticity affects the impacts of the tax.

	
	Initial Value
	New Value

	Demand Elasticity
	1
	1

	Supply Elasticity 
	1
	

	Price that:
	
	

	   Buyers pay
	$200
	

	   Sellers receive
	$100
	

	Quantity
	20
	

	
	
	

	Tax Revenue =
	$2000
	

	Deadweight loss =
	$500
	

	Deadweight loss per $1 tax revenue
	$0.25
	


Given the demand elasticity, does a more elastic supply curve result in more or less deadweight loss for a given tax rate? Does a more elastic supply curve result in more or less deadweight loss per dollar of taxes raised?

8.
Make both demand and supply inelastic. Choose numbers between 0 and 1. (Choose a different number for each of the two elasticities.) Fill in the blank cells below and write a couple of paragraphs indicating how the decreased demand elasticity affects the impacts of the tax.

	
	Initial Value
	New Value

	Demand Elasticity
	1
	

	Supply Elasticity 
	1
	

	Price that:
	
	

	   Buyers pay
	$200
	

	   Sellers receive
	$100
	

	Quantity
	20
	

	
	
	

	Tax Revenue =
	$2000
	

	Deadweight loss =
	$500
	

	Deadweight loss per $1 tax revenue
	$0.25
	


9.
If you were in charge of designing a tax program that consisted of excise taxes on various goods, would you prefer to tax goods for which the demand and supply curves are elastic or inelastic? Explain, referring to the tables above.

Laffer Curve: Short Description of Worksheet. 

10.
Suppose the tax is to be raised from $60 to $90.


a.
How much more revenue will be generated?


b.
How much deadweight loss is incurred per $1 of tax revenue when the tax rate is $60?


c.
How much deadweight loss will be incurred per $1 of tax revenue if the tax rises to $90?


d.
How much additional deadweight loss will be incurred per additional dollar of tax revenue if the tax rate rises to $90? Show your computation. That is, calculate the change in deadweight loss divided by the change in tax revenue.


e.
If the government is considering this tax increase, which number is more important, the answer to (c) or the answer to (d)? Explain, assuming that some tax positive amount of revenue must be raised.

11.
Do you recommend that a government choose the tax rate that places it at the top of the Laffer Curve? Explain.

12
Use the Scroll bar to change demand elasticity.  

What happens to deadweight loss as you increase demand elasticity?


What happens to tax revenue as you increase demand elasticity?

13.
Reset the values. Now, use the Scroll bar to change supply elasticity.  

What happens to deadweight loss as you increase supply elasticity?


What happens to tax revenue as you increase supply elasticity?
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How long did it take you to finish this exercise set?

Please rate its difficulty.  Circle one of the numbers on the scale below

1


2

3

4

5

Extremely easy






extremely difficult

Please rate its clarity.  Circle one of the numbers on the scale below

1


2

3

4

5

Extremely clear






extremely confusing

Please suggest ways to improve the exercise set, in terms of either clarity or content.


